
M 14:  A1= 10cm²; l1= 15cm; n1=1000; µr=1;   A2=5cm²;  l2=10cm;  n2=500;  µr=1000;  k=0,87  

14.1 L = n²
Rm

= n² µ A
l  =>  

M = k⋅ L1 L2 = 99,8 mH

14.2 da Spule 2 im Leerlauf:  i2(t) = 0 (= konst.)
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L ∫
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t

dt → ii0=
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L
( tt0) da i0=0 ist i=

u1

L1
t

  0< t <t1  :

da i0=0,  t0=0 und u1(t) = 1V folgt: i=i ( t ) =
u1

L1
t = 1V A

8,38⋅103Vs
t = 0,119 A⋅ t

ms

  t1  < t <t2  :

∫
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i

di=
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L ∫
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t

dt → ii1=
u1

L
( tt1) → i=i1

u1

L
( tt1)  wobei: i1  =119mA;  u1  =-1V

i=119 mA119mA
tt1

ms
→ t=2ms; i=0

14.3:  t0=t1=1ms
     Für t≤t1: i=119 mA⋅ t

ms

Für t>t1: ∫
i1

i

di=∫
t1

t uL

L
dt  =>i - i1 = 0  => i=i1  => i = i1 = 119mA = konst.; u2 = 11,9 u1

L1=
106⋅4π⋅107 H⋅10⋅104 m2

m 0,15 m
= 8,38 mH

L2=
254⋅4π⋅107 H⋅103⋅5⋅104 m2

m 0,1 m
= 1,57 H
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